Cinematica Traslacional

v =1+ at d
d =7t =T
. Pi+ur
BETTE . ds
1 V=0
d=1:,-t+iutz dt
d-_pfz_u':z |'i=E
- Ia dt

Dinadmica Traslacional

Cinematica
Proyecciones
Ay, = £A sinfy

Ay =+4 cos By

lA] = ||{"'11':|z +(4,)*

By = tan"{ﬂy,-"ﬂr]

Dinamica Espacial

Sy {rmy 1y
= i F=-kx g = 3
Frp=puN F=—fkx Wt=mg 2Gmy,
I?E. =
a. = An?fR ac=w?R JRoth
. mr? 4 v g, = Gmp :
o= My = mrwt g, T (Rp+ h)2
4;1sz P - 4 E:"T.T
= E =d4ximRf? T =——"—
¢ ="z = Ry + B2
t  dt # r
F = —mg sin(# by*
my sin{#) s 1_(_)
ri
Trabajo y Energia b2
EP=mgh  AM=0 Tmax = 0
EK = Lmp? EM =EP +EK L b*
E min " Ta 4 d)

W = Fscoos 8.

Wiero = AK W=J’Ft~d§=h F.z

W
oy 1

W =18

Zwﬁ- = AK,

P=rt1wm

W, =AM

PE' = Elrf.'{'z

EP =mglL(l — cosd)

Zm:Zrar:M,

W, P, VMA
Eff =Ir_v;x1gu% = —Ea.; 100% = —— = 100%

P

FORMULAS DE FisiCA

VMl

PROF. PEREZ

Cinematica Rotacional

s =60R 8= @t Gy == gk GL
v=wR g 5=mf+mf
b =— 2
a=«R t
1 G =gyt
B =t +—at e :
: 2 a 2o
Dinamica Rotacional
t=+FL=+rFsinf, ; F4=-Fg
. AL dL
ZT_EEE Ty =Ty

ZT=IE Z?=r£ z;=n

Momento de Inercial

JI1:1r|:| = mR* JIjl.w:rrt:'|:|'.|:f.|:1 = mR*
1 2 g
Ltisco = EmRZ lesfera = -E-mﬁ""!
T
I=Zm[-r[-z=':[rzdm
i=1
Impulso y Momentum
p=mv Af=mAv  Ap=
3 feit L=lw=Fxj
.. D T=85
I =Ft
Zf=f~l' =
K 11' 4
= =l ) =
v J=PfxF=Fr

— -+ i -
A= Vaga = lWap— Vin
mivy +merz = (im + mz)i

MTh4 + Malizq = MaVin + Ma¥zp

SANABRIA



